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£Hel: sgAEeE S4 CEEEN
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CEEEICEEEEEEES))
8,000 x501x804! 3,200
202 Ot 12,000 12,000 0
NENEED 12,000 12,000
SUSHARLHM
200,000 %501+ 122 12,000
203 2EZIH| 3,000 3,000
03 AIBEZRIQREAIH 3,000 3,000 0
OslsEa g2=x 3,000,000 3,000
301 LBEAS 10,000 10,000 0
11 BAFAHIXIRZ2 10,000 10,000
ONg, A AKX
1,000, 0004103 10,000
406 J|EFRH=20I A 3,000 3,000
01 JIEFAF=20I A 3,000 3,000 0
S5 =2 S=HIB
1,000,0002 %33 3,000
=OICHYIS S 115,600 105,600 10,000
201 LB 3,200 3,200 0
01 AF222IHI 3,200 3,200 0
OsUISHETHY AL B4 T2ATI2
800,000 x43] 3,200
301 LBEAS 8,400 8,400
11 BAFAHIXIRZ2 8,400 8,400 0
OsIBHSEHY WS, #A &4 X123
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O4Hz|® C=nRAL X
80,0002%2501x13] 2,000
307 2I2H0| & 10,000 10,000 0
02 QIFAAAIRIE R 10,000 10,000
OFE4HE| NS 2 KA
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= 11,250
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= 8,750
= 8,750
01 AFRZ2IHI 10,000 10,000 0
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Pl SRHAEE F|Y (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 700
[ 700
202 O4H| 1,000 1,000 0
= 500
i 500
01 SUHOHI 1,000 1,000 0
ONEBR ALY Y=
20,000&+521%10%] 1,000
= 500
i 500
HsTLEHAA 17,667 35,000 A17,333
= 5,300
i 12,367
201 Let23| 7,667 0 7,667
= 2,300
i 5,367
01 At22lH] 7,667 0 7,667
OA=HAE LS JI=20S
7,667,000 14 7,667
= 2,300
i 5,367
307 2I2t01™ 10,000 35,000 225,000
= 3,000
i 7,000
02 I B AEE X 10,000 20,000 210,000
OFsEdgds FEAH
5,000,000 x2IH 2 10,000
= 3,000
i 7,000
sgolts 10,710 16,000 A5,290
= 5,355
i 5,355
201 28H=3| 10,710 12,800 A2,090
= 5,355
i 5,355
01 At22lH] 10,710 12,800 22,09
Osgolst 2 10,710,0002 10,710
= 5,355
[ 5,355
sl d2u= 14,304 6,600 7,704
= 7,152
o 7,152
201 28t=3d| 14,304 6,600 7,704
= 7,152
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01 AFRZ2IHI 14,304 6,600 7,704
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3,576,000 x4 )t E 14,304
= 7,152
= 7,152
NEE=E ST ETmES 800 10,000 9,200
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= 400
201 LB 500 7,600 A7,100
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= 250
01 AF222IHI 500 7,600 A7,100
OHslRIHE ¥ sxAsNE D=
500,0002%10! 500
= 250
= 250
202 Ot 300 2,400 A2,100
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= 150
01 2UH0i| 300 2,400 A2,100
OBIEASDE N0
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= 150
= 150
NEB2 M2 HUs=x 2,500 3,500 A1,000
= 1,250
= 1,250
202 O4H| 2,500 3,500 A1,000
= 1,250
= 1,250
NENCED 2,500 3,500 A1,000
OXE2R2 M2sajuss 1
250,0002410¢! 2,500
= 1,250
= 1,250
EESIEINE= N 6,500 7,400 A900
= 3,250
= 3,250
101 Q14| 5,200 6,000 A800
= 2,600
= 2,600
04 JI2H 22 XS ES 5,200 6,000 A800
OBEI|IENETSE BX Q1] 5,200
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Hu: =& olARY
£Hel: sgAEeE S4 (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
301 EtEEZ 32,000 66,000 A34,000
= 16,000
i 16,000
14 JIEtE&Z 32,000 66,000 A34,000
O8ZAsuE HF0sIt 243 X2
1,000,000 +85 40 & 32,000
= 16,000
i 16,000
soISEHN NS2INA(SEXNEA SHUS) 1,600 1,600 0
= 800
i 800
201 22| 1,600 1,600 0
= 800
i 800
03 AL2ZEH| 1,600 1,600 0
OSENTR 218t RPYUR2
800,000&*23| 1,600
= 800
i 800
MBASTANEZH 8,920 8,920 0
= 8,920
201 23| 1,000 0 1,000
= 1,000
01 At22teld| 1,000 0 1,000
Os4g HEASEAL 28 7
1,000,000& 1,000
= 1,000
202 44| 2,640 2,000 640
= 2,640
01 =LY 2,640 2,000 640
OsaE BEASTA Y25
20,0002 %1323] 2,640
= 2,640
301 LEEBHZ 5,280 6,920 A1,640
= 5,280
14 JIEtE&Z 5,280 6,920 A1,640
OS2 BEEASTAES SIHEAH(33s01)
5,280,000& 5,280
= 5,280
NG Est=)|=sd s 10,000 10,000 0
= 4,000
i 6,000
101 eI44| 10,000 10,000 0
= 4,000
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£Hel: sgAEeE S4 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 6,000
04 22T EE 2 10,000 10,000 0
OXles=2)|E B35t o1y 10,000
0123 76,9602 % 1211002 7,6%6
= 3,078
= 4,618
=S ES= 76,9602 101x202 1,540
= 616
= 94
0HLEE 9,235,200243.545% 328
= 131
= 197
0RIIRYEE 327,3902%12.81% 42
= 17
= 25
0NE=28 9,235,2002%1.75% 162
= 65
= 97
O ES 9,235,200 1% 93
= 37
= 56
IBEGSHAM S 139,000 139
= 56
= 83
Moliselel Agns 9,000 6,000 3,000
[ 2,700
= 6,300
201 L2 A 9,000 6,000 3,000
[ 2,700
= 6,300
01 AFR2H2IHI 9,000 6,000 3,000
OMGH solaznsg 29
450,0002%203] 9,000
[ 2,700
= 6,300
SEXNEZ2Y A2ASF 8,000 5,000 3,000
[ 2,400
= 5,600
201 L2 A 8,000 5,000 3,000
[ 2,400
= 5,600
01 AFRZH2IHI 8,000 5,000 3,000
MR AU I=F 8,000,000 %1 4! 8,000
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3 =& o
Pl SRHAEE F|Y (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 2,400
[ 5,600
ANz 4H2F Ws X 2,000 2,000 0
& 600
i 1,400
201 et23| 1,000 800 200
= 300
i 700
01 Al 22| 1,000 800 200
O4HEE 1R L A 2
500,000 *22| 1,000
& 300
i 700
301 LBtE2NS 1,000 1,200 A200
& 300
i 700
11 AAEIXIES 1,000 1,200 A200
O4H22 DS L A BAT 243
500, 0002 *22| 1,000
= 300
i 700
SENZA S5E 54 X2 3,000 5,000 A2,000
S 900
i 2,100
206 M= Hl 3,000 5,000 22,000
S 900
i 2,100
01 MH=H] 3,000 5,000 22,000
OsZEACN ssssid 28 A
3,000,000 102 3,000
= 900
o 2,100
FE4H A s K2 8,000 8,000 0
& 2,400
i 5,600
201 Let23| 4,500 4,500 0
& 1,350
i 3,150
01 At2t2lH] 4,500 4,500 0
OFE4-Hg HHus 29
900,00024%53 4,500
= 1,350
i 3,150
301 Et2HS 3,500 3,500 0




2AM:

Hu: =& o
£Hel: sgAEeE S4 CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
= 1,050
o 2,450
11 HALRHIXIRE S 3,500 3,500 0
O&E4-Hs| HMus &K 243
700,000&4%53] 3,500
= 1,050
= 2,450
St A-HS| Al W= X3 3,000 3,000 0
& 900
= 2,100
307 SI2t01 & 3,000 3,000 0
= 900
o 2,100
02 QIZHBAANSBEE 3,000 3,000 0
O&u4-Hs| M g5 XId
1,500, 0002 *2J4 ) 3,000
= 900
= 2,100
dEs=g S8R 5,500 5,500 0
& 1,650
= 3,850
307 SI2t01 & 5,500 5,500 0
= 1,650
o 3,850
02 QIZHBAANSBEE 5,500 5,500 0
OZEst=d gdst X3
5,500,000 * 14! 5,500
= 1,650
o 3,850
SENEL =sSEERX XA 23,100 17,100 6,000
& 4,620
= 18,480
201 L2 3| 23,100 17,100 6,000
& 4,620
o 18,480
01 At22t2ld| 23,100 17,100 6,000
OsZXNEX sg32X X2
60,0002 *3859! 23,100
= 4,620
o 18,480
4H3| sZEBX XA (4HUR) 2,700 2,700 0
& 540
= 2,160
201 L2 3| 2,700 2,700 0
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M =& oIS
£Hel: sgAEeE S4 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 540
= 2,160
01 AF=22lt] 2,700 2,700 0
O4Hz =SB XA 30,0001%909! 2,700
= 540
= 2,160
=0 NASHLE =5 EA 29 A2 5,000 5,000 0
= 1,500
= 3,500
206 M=l 5,000 5,000 0
= 1,500
= 3,500
01 K= 5,000 5,000 0
O52 MASILR DESSTH 2
5,000,000 %174 5,000
= 1,500
= 3,500
ALE NS2LA 2A5 AE 6.600 0 6,600
= 1,980
= 4,620
307 I2F0IA 6.600 0 6,600
= 1,980
= 4,620
02 QI AAIIBE 6.600 0 6,600
OLAs SHSOIHE M=
6,600,00021%1 4 6,600
= 1,980
= 4,620
HESol0l Z2EYT 2A5 AlY 10,000 0 10,000
= 3,000
= 7,000
201 LEr2 ] 3,000 0 3,000
= 900
= 2,100
01 Al=22lH| 3,000 0 3,000
OFU=Ql0l Z2UEYD B4 AlY 2
2 3,000,0008+ 13 3,000
= 90
= 2,100
301 LErHEA2 7,000 0 7,000
= 2,100
= 4,900
TETTEE 7,000 0 7,000
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SA: SHXED
HM: =ZE olKxs
Pl SRHAEE F|Y (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OFdU=gol ZESUERT 43t AlY &
Fus 3,500,0008423] 7,000
[ 2,100
= 4,900
=A2 2210 0BIE TS0 84 AlY 15,000 15,000
[ 4,500
= 10,500
307 212+0|& 15,000 15,000
[ 4,500
= 10,500
02 QIFAAAIRIE R 15,000 15,000
Osite 220 0PI dEst |4
5,000,000 %374 2 15,000
[ 4,500
= 10,500
ADIEZ HEAQ NE Al 29 50,000 50,000
201 L2 A 18,000 18,000
01 AFR22IHI 18,000 18,000
OAIESI0 ADIEZ HE 0IHID| 2
900,000 %203 18,000
202 Ot 5,000 5,000
04 2R304I 5,000 5,000
OANIER HUEEQY 1S Qs 2ol
5,000,000 13 5,000
206 XHEH| 5,000 5,000
01 XHEH] 5,000 5,000
ASDI I 28 S
5,000,000 * 14! 5,000
301 YRHEAS 22,000 22,000
08 DI2tI=22(01H] 20,000 20,000
OADIER MXX| =2Qeiz
4,000,000 %5Q1%13] 20,000
11 BAFAHIXIRZ 2,000 2,000
OANIER MXX| S&AHE
1,000,0002%23 2,000
S S=XNCXE 245 X 16,500 16,500
201 L2 A 11,000 11,000
01 AF2ZH2IHI 11,000 11,000
OS8Y d=)|s ESNS A2 L X
X& 1,000,000+ 1S 11,000
301 YB3 5,500 5,500
11 BAFAHIXIRZ2 5,500 5,500
OYosior 30| L HAHE 2AXH
250,000 %223 5,500
HEsi=0l 2201 0Bl 243 X 6,000 6,000
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SA: SHXED
HM: =ZE olKxs
Chel: SN2 |4 (Chol: ®i2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
201 2B A 6,000 0 6,000
[ERTEI] 6,000 6,000
HE5hs0 2435 XA
6,000,000 14! 6,000
12t 2 73,293 21,056 52,237
Y2 AR 73,293 21,056 52,237
OI4H| 31,093 21,056 10,037
04 D12 2% 31,093 21,056 10,037
OO/ 2HA S 2+ 31,093
0123 76,9602 %101x2492 19,164
0FXtg 76,9602 %101x502 4,002
0J|E+g 1,000,000 % 10! 1,000
SR 76,9602%302 2,309
0HE=2S 24.,166,00024*3.545% 857
0BIRY 24,166,00024+12.81% 3,096
01E=E 24,166,00024%1.75% 423
0MTHES 24,166,000 1% 242
201 L2 A 37,200 0 37,200
01 AFR22IHI 9,000 0 9,000
Oz 8
150,000 % 12 1,800
Ostaal o 2Z S HIERY
400,000+ 128 4,800
O&2D| Xtz 50,0002 *4CH* 122 2,400
02 222 28,200 0 28,200
OasleE 23 50,0002 % 12 3,000
OFIIR2 2,000,000 * 12 24,000
Ooste3 100,000 * 12 1,200
401 AlEHI L2 0HH 5,000 5,000
01 Al&H] 5,000 5,000
OA4 RX 24 2,500,0002 *2A! 5,000
XS ANMEE 3,076,679 1,738,783 1,337,8%
= 1,081,750
7l 5,500
[ 296,500
= 1,692,929
IE=S =T} 1,516,679 1,242,783 273,896
= 395,750
7| 5,500
[ 260,500
= 854,929
DEXSASMAXI 16,320 16,320
201 Yty 7,920 7,920 0
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cH):

sgdED
ASEZME=Z
ASASH3E Jl=He

A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 AF22t2IHI 7,920 7,920 0
OSUHFHSLHM 22 S S2X2 M
2,000 *500 8 +33] 3,000
OAMRZ2THD IS Mens XY
300,000 %103 3,000
OSZH|(H28PAREX)
8,0002%301%80A! 1,920
202 Ot 7,200 7,200 0
01 2LH0IH 7,200 7,200
OXSEH AR,
200,000 *3Q1x 128 7,200
301 YEHEAS 1,200 1,200
EEREE 1,200 1,200 0
OAlZEZ MRIX| AS
30,0002%4001x 13 1,200
AZSABEE 2 173,332 165,813 7.519
101 Q124 80,732 77,413 3,319
M IIR22IEES 80,732 77,413 3,319
AZAEZ 22 53,39
0oz 76,9602 %201%2492! 38,327
0FRtgt 76,9602 %201 %502 8,004
0 Xt 76,960R%201x 112! 1,694
0=013 47,716,0002 %4 . 5% 2,148
0HZEE 47,716,0002%3.545% 1,692
0IRYLE 1,692,00024%12.81% 217
01E=ZSH 47,716,000 % 1. 75% 836
O ES 47,716,0002 % 1% 478
OAHEGIRA L sE222| 13,668
0oz 76,9602 *201x652 10,005
0FXt=gt 76,9602 %201 132 2,001
0 Xt 76,960 %201x2l 308
0=pIi=2 12,006,000 *4. 5% 541
0HSEE 12,006,00024+3.545% 426
0Z)| QLS 426,00024%12.81% 55
nE=tl 12,006,000 % 1.75% 211
0&HHEE 12,006, 0002 * 1% 121
OBSQE 2| L T2, ASHAIE 324X
& 0l 4] 13,668
0oz 76,9602 %201 %652 10,005
0=t 76,9602%201%132 2,001
0AXt =S 76,960 %201x2l 308
0=01013 12,006, 000244 5% 541
0AUEE 12,006, 0002 %3 545% 426
0IRYLE 426,00024%12.81% 55
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2A sHAED
HI: NSEHIPLEE
el XSSH3E Jl=He (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
REEE 12,006,000 % 1.75% 211
0MTHES 12,006,000 1% 121
201 LB 18,600 14,400 4,200
01 AlR2t2lH] 3,600 3,600 0
OASAIEEZE 23| 300,000 %12 3,600
02 2229 15,000 10,800 4,200
OAZAIBE HI Q2
350, 00024 * 1224+ A 8,400
Oglz| 3,600
QAISAIEIZ AlM 1,000,0002 %33 3,000
0sJ1 200, 0002 *3CH 600
OAIESX 2| 300,0002*10S 3,000
206 M=l 59,000 59,000
01 H2HI 59,000 59,000
OZ=SRE MM 7 2,000,0002*10Z 20,000
OFAIEE T2 32 I 22
4,000,0002+6% 24,000
OMAIE AQXH 2
3,000,000 *55 15,000
401 Al&HIL S 0HY] 15,000 15,000
01 Al&H| 15,000 15,000
OAISAIEZH HIL5IRA Al&IHA
5,000,0002435 15,000
EEAFA 29 152,207 161,650 9,443
101 ©1AHH| 131,604 137,074 5,470
02 J|EtRIE 4 68,816 74,286 5,470
OPHHMEAAl 2H (AR 2D HZRL
) 68,816
0J1=23(YIINI82)
2,278,890 %201+ 122 54,694
o= 4,527 5002 %20! 9,055
OAIZES B RIS 71,1002 +201x 122 1,707
0 H=AH| 140, 0002 *201% 122 3,360
03 ZRE(RIHA)22XHES 62,788 62,788 0
OELAHA 2 62,788
0122 2,187,40024x201% 122 52,498
0&REHATE 150,000 #0201+ 122 3,600
0HEFIH 2,187, 4002 *608*221%23| 5,250
0ItELE 120,000 %101+ 122 1,440
204 R RaEAH| 4,515 4,096 419
02 RSB X 3,465 3,046 419
OAIZFEEH 2D1RI(82)
144,37024%201x 122 3,465
03 SEARHH| 1,050 1,050 0
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2A: SHED
M HSBAWLEE
el XSSH3E Jl=He (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
S EEEEREEIESI
43,75021%201% 122 1,050
304 IZ2EH2S 16,088 20,480 A4,39
02 20AABH2 3,094 5,199 A2,105
OAIRHHER 20IH| A22E IRz
77.331,00021%3.545% 2,742
OAIRHHER 2DIH &)U s J|aey
2 2,742,00024%12.81% 352
04 ZRX(DI|H ) 22K PEHISEHZ S 12,994 2,664 10,330
OAIZHHER 20IH DE2E Jl2ee2
77,331,00024%0. %% 6%
OZ2z 1298 J|2EU2
62,788,00021% 1. 75% 1,099
OZ2Z AHEE JI2Ee2
62,788,0002 x 1% 628
OZ=2Z 2001z J|2ES
62,788,00021%4 . 5% 2,826
O32% EANNY2 62,788,0002%1/12 5,233
OZ2Z AATS J|pEU2
62,788,00021%3.545% 2,226
OZ2Z I QULE J|p2e2
2,226,000212.81% 286
NEREN EERENEERE 18,000 18,000 0
2 9,000
= 9,000
201 LB d| 4,000 4,000 0
2 2,000
= 2,000
01 AlRZelt] 4,000 4,000 0
Ouze2el & 22
500,000 +7CH 3,500
=2 1,750
2 1,750
Oz A7 100,00024*55 500
2 250
= 250
202 O4t| 1,800 1,800 0
2 900
2 900
NETEE 1,800 1,800 0
OHiiZE HRe=s g2
150,000 %201 +6 2 1,800
=2 900
2 900
206 TH=H 6,200 6,200 0
2 3,100
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SA: SHXED
HHM: HSEYIHMZE
CHel: XISA5H DISHe
SN - BB C9I(3H) - NRAIR - BaS Gl
= 3,100
01 X2l 6,200 6,200
Oolze ¢ 2 7Y
1,550,000 %4 & 6,200
= 3,100
= 3,100
405 KHAE SH 6,000 6,000
= 3,000
= 3,000
01 XAt 2ES 6,000 6,000
Oz 29 ZH| 2
6,000,000 % 14! 6,000
= 3,000
= 3,000
WerASHEI & o XI) 42,000 42,000
= 21,000
= 21,000
201 L2 24,500 18,500
= 12,250
= 12,250
01 AF222IHI 24,500 18,500
S=dZ&d o 100, 00024301 300
= 150
= 150
OoxgatdEs 900, 0002I%23] 1,800
= 900
= 900
OELAH H MK
1,200,000 %23 2,400
= 1,200
= 1,200
OZEs2&A 2% 2279
1,500,0002* 123 18,000
= 9,000
= 9,000
OZFID| ARL £4HI2
500,000 %43 2,000
= 1,000
= 1,000
202 OiH| 3,500 3,500
= 1,750
= 1,750
01 2LH0IH 3,500 3,500
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SN SEUED
B R2EZAIMEX
el XSSH3E Jl=He CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Ozg=rd 28 gend
875,000 %401 3,500
= 1,750
o 1,750
206 XH=Hl 14,000 20,000 26,000
= 7,000
i 7,000
01 MZH 14,000 20,000 26,000
OZB2A U ABUZ PN S)
1,400,0002+105 14,000
= 7,000
i 7,000
SHSYENS 2EE 2H(H,22) 1,500 1,500 0
= 750
i 750
206 = Hl 1,500 1,500 0
= 750
i 750
01 MZH 1,500 1,500 0
OZEE 29 MW=HI(H3, 22I2)
300, 000257 4 1,500
= 750
i 750
HAEZ HEAH XNJ(ELZH) 5,500 5,500 0
Jl 5,500
206 XH=Hl 5,500 5,500 0
7l 5,500
01 MZH 5,500 5,500 0
OXMEM OltBH EAAMN M=
1,100,000&55 5,500
Jl 5,500
SYE SEXSUH JEMY 40,320 16,000 24,320
307 212t01 ™ 40,320 16,000 24,320
02 QIZHHAAIEE X 40,320 16,000 24,320
OsHEEEE £&5 NHASFS usHl AF
1,400,000 *3621+80% 40,320
=2 B =3 AY 30,000 0 30,000
= 15,000
[ 15,000
401 AIZHIZL S0 30,000 0 30,000
= 15,000
i 15,000
01 Al2H| 30,000 0 30,000
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SN SYXED
M NN FE
el XSSH3E Jl=He (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 AR ESEFHSHI 7,500 0 7,500
Ogaisdttal XetE I 2
7,500,000& 7,500
= 1,500
i 6,000
EASE JIEEL 24018 & 200,000 0 200,000
= 100,000
i 100,000
405 XHoHESHI 200,000 0 200,000
= 100,000
i 100,000
01 ML 2EFSHI 200,000 0 200,000
OlERL Mg E34 AAEY 7Y
200,000, 000& 14! 200,000
= 100,000
i 100,000
AMSNE Mo X3 1,560,000 496,000 1,064,000
= 686,000
= 36,000
i 838,000
H ASS XNSEE AIHA 20,000 10,000 10,000
402 CIZHRHE0|N 20,000 10,000 10,000
01 CIZEXH= A B2 (XERITHE) 20,000 10,000 10,000
OH &3S Mo =X & SK X& S
20,000, 000& 20,000
H gois Ss2Hdl XI& 45,000 35,000 10,000
= 9,000
i 36,000
307 212t01& 45,000 35,000 10,000
= 9,000
i 36,000
02 QIRHBAIANHE R 45,000 35,000 10,000
Ol Zolls Sl X
100, 0002 *450ha* 100% 45,000
& 9,000
i 36,000
ESSHE MA0E |4 AIEAE 20,000 20,000 0
402 QIZERHE0| A 20,000 20,000
01 QIZENGEAMLE AR (XA ) 20,000 20,000 0
OESsitEg MeD|Rs St 2 it
o 20,000,00024 20,000
A FHEX =4 5,000 5,000 0
402 CIZHRHE0|A 5,000 5,000
01 CIZFXH= A B2 (XERITHE) 5,000 5,000
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SA: SHXED
HHM: HSEYIHMZE
Rl MEAE da AR (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OAHE ZHEXI X8
5,000, 0002 *2IH 2A:*50% 5,000
E2H0IA THHHEER XIS 10,000 10,000 0
402 Q12+ RH20IH 10,000 10,000
I ENEEES O ED 10,000 10,000
OE0IA THHHERX] X
20,000, 0002 *50% 10,000
B AES SAICK AlY 30,000 0 30,000
[ 9,000
= 21,000
402 Q12+ RH20IH 30,000 0 30,000
[ 9,000
= 21,000
02 QI RF2 A E R (0| M THSY) 30,000 0 30,000
OHl AIZEZ ZAICH AIEAH
30,000,000 %174 A 30,000
[ 9,000
= 21,000
MAH| Z2E B AATHEE Al 32,000 0 32,000
[ 12,000
= 20,000
402 QI+ RH20|H 32,000 0 32,000
[ 12,000
= 20,000
02 QIZFRF2 A E AR (0| M THS) 32,000 0 32,000
OMAHIEZ B E224D| sI(H X<
32,000,000 *1CH 32,000
[ 12,000
= 20,000
ANHIES HE 2P SIHH Al 16,000 16,000 0
[ 6,000
= 10,000
307 2I2H0| & 16,000 0 16,000
[ 6,000
= 10,000
02 DIZEEAAIIE X 16,000 0 16,000
OAHIEE He E&d sXH X
16,000,000 14! 16,000
[ 6,000
= 10,000
B ®OE CXE EsJl2 DEs Al 100,000 0 100,000
= 50,000
= 50,000
402 QI2EXH20] M 100,000 0 100,000
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SN SEUED
B R2EZAIMEX
Rl MEAE da AR (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 50,000
[ 50,000
02 QIZEXH=AL 22 (01 THE) 100,000 100,000
OZX, SKM, HSZH AIAE, M)
H, EE S ReDIAIE EHIXZ
100,000,000& 100,000
= 50,000
i 50,000
NEA ASAZ DIz St 2 AY 172,000 172,000
= 86,000
i 86,000
402 212tXH=01 S 172,000 172,000
= 86,000
i 86,000
02 QIZEXH=AL 22 (01 THE) 172,000 172,000
OBl HELA THBHER AlAE 7%
172,000,000& 172,000
= 86,000
i 86,000
WIS HE H 2= el =9 Alg 200,000 200,000
= 100,000
i 100,000
402 212tXH=01 S 200,000 200,000
= 100,000
i 100,000
02 Bl AHE ARG 2 (01X THS) 200,000 200,000
ORI B MATT| X4
200,000,000 200,000
= 100,000
i 100,000
AL XS NS Aot A 22 900,000 900,000
= 450,000
i 450,000
402 212tXH=01 S 900,000 900,000
= 450,000
E‘ 450,000
02 CIRIXHEAI 2 X (01 F THE) 900,000 900,000
O/IIZ JHBAIE L Fbl 7Y X
900,000,000 900,000
= 450,000
i 450,000
2H= HollES SSYMEl KRAAL 10,000 10,000
307 2I2t01 ™ 10,000 10,000
02 QIZHHAAIEE X 10,000 10,000
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SN SEUED
B R2EZAIMEX
CH2lr AlEAE Mo T3 (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OdollEs SN =< S & gAMbl XA
20,000, 00021* 11 A*50% 10,000
Y-S SEAA 1,467,808 1,315,812 151,996
= 45,870
Jl 17,000
& 181,360
[ 1,223,578
NEE USE Aot 1,304,568 935,212 369,356
Jl 17,000
= 155,110
i 1,132,458
U==EX2E 26,268 24,948 1,320
201 et23| 5,868 5,868 0
01 Al 22| 5,868 5,868 0
OB4SR HSTA 7
60,0002 *35*2F 360
OS5 AMER 2 & 2
600, 0002 *3IH & 1,800
OsH=Mo28 IJHYELE &= MA
55,0002 1294 A+23] 1,320
O slatd M 82 &S+ AH
55,000&* 1294 2=+ 12 660
OSTUI(ULSH Y257)
8,0002+3015724! 1,728
202 048l 7,200 6,480 720
01 =LHOIHI 7,200 6.480 720
OB4SH R4s
200, 0002301128 7,200
206 M= Hl 10,000 10,000
01 MH=Hl 10,000 10,000 0
OBt SLoHE LA
20,0003 *500% 10,000
301 Et2HS 3,200 2,600 600
11 A BIXIES 3,200 2,600 600
OXNSY HRDS &4
30,000&+4021+23] 2,400
OD4+SHDS % BIIa| &4
20,0002 %4001 800
Y-SXAA 25,000 22,400 2,600
402 BIZtA=01 M 25,000 22,400 2,600
01 QIEXtE AL 22 (RHHITH) 25,000 22,400 2,600
ONEE LHHHMAHBISX) X
25,000,000 25,000
NSE MEALY B35 K& 120,000 100,000 20,000
402 212tXH=01 S 120,000 100,000 20,000
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SH: SAXED
H: PSR SN
SHel NSE S Mo (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 CRIHEAIS B (R ) 120,000 100,000 20,000
ODEH AFAL BE3} X2
240,000,0002!*50% 120,000
DSR2 48,000 48,000
402 SIZEXHE0IA 48,000 48,000
01 BIRIHEAIS 2 (RHRITHE) 48,000 0 48,000
OL-d o2 N8 HSCY $ZAA AlY
30,000, 0002 %80% 24,000
OS2HI21 I THHH 2 He Al
15,000, 00024 +80% 12,000
OB Hols 2Hl SR X8 Ea 4X|
= 24,000,0002 *50% 12,000
SSASALEUE N (SSHS(HA)MAAILE 42,500 15,000 27,500
CHat)
bJ 17,000
S 7,650
z 17,850
402 SIZERHE0IA 42,500 15,000 27,500
bJ 17,000
< 7,650
E 17,850
02 QIZFRHE AR 2 (O1&THE) 42,500 15,000 27,500
OSSHS(HA)MAAIL BH5
42,500, 0002 +2A1x50f% 42,500
bJ 17,000
< 7,650
E 17,850
N N EEENE] 520,000 520,000 0
S 130,000
z 390,000
402 SIZEXHE0IA 520,000 520,000 0
S 130,000
z 390,000
02 CIZHRHE A B (OI&THE) 520,000 520,000 0
O=HZ Hol2ss X
520,000,000 520,000
< 130,000
E 390,000
AS3 2] 522,800 222,800 300,000
S 17,460
z 505,340
402 SIZEXHE0IA 522,800 222,800 300,000
S 17,460
z 505,340
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S SYEED
Hu: JPLEX SHNE
SHel NSE S Mo CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
D= EES (FENTE) 522,800 222,800 300,000
O&s X 12,900, 0002 x50% 6,450
= 1,290
2 5,160
Ol +38 212 N
8,700, 000! 50% 4,350
= 870
2 3,480
OMlAS =2 33 N 355,500
0AAS DAMAAIE B XD
22,200, 0008!+55 *50% 85,500
= 6.000
2 49,500
OARIHAZ! AT S4 A
600,000, 0002!50% 300,000
Ona HIIMEH Xg
21,000, 000! +50% 10,500
= 2,100
2 8,400
Omrazel #2335t N
20,000, 0002 13CH*50% 130,000
= 4,000
2 126,000
Ot XHTHoHZ K
32,000, 000! +50% 16,000
= 3,200
2 12,800
DEE JAER B4 A 163,240 380,600 £217,360
2 45,870
= 26,250
2 91,120
HHE 2IE 2 (H) 1,500 1,500 0
2 750
2 750
206 MZH| 1,500 1,500 0
2 750
2 750
TET] 1,500 1,500 0
Ogohs BT 2 (HH)
300, 00021 x57H 4 1,500
2 750
2 750
=XN2 HHE YA 50,240 67,600 AT7,360
2 25,120
2 25,120
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FM: sHEED
Y YrSE ST
9l: DEE BLSE M4 AlY (crel: xisl)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
206 =4I 50,240 67,600 A17,360
= 25,120
i 25,120
01 M=l 50,240 67,600 A17,360
O=X2 HWolS WAl 50,240,000 50,240
= 25,120
i 25,120
== HollE ME 22X AlY 7,500 7,500 0
& 2,250
i 5,250
202 o4t 3,600 3,600 0
= 1,080
i 2,520
01 =LHOAHI 3,600 3,600 0
OIS 02 L YHEZ
20,0002*3Q1x60 3,600
& 1,080
i 2,520
206 =4I 3,900 3,900 0
& 1,170
i 2,730
01 Xz 3,900 3,900 0
OB+EHE 0l L 2R
1,950,000&*x2& 3,900
= 1,170
i 2,730
de B4 MES I3 T4 MY 24,000 0 24,000
& 9,000
i 15,000
402 QIZERHE0| A 24,000 0 24,000
& 9,000
i 15,000
02 QIZENEAMSE R (01X M) 24,000 0 24,000
OdY |4 ASFS W3 ZEAEAMY
30,000,000 * 1IH 2 *80% 24,000
= 9,000
i 15,000
AHIXF EHIE SF AS0 &2 AlY 40,000 0 40,000
& 15,000
i 25,000
402 QIZERHE0|A 40,000 0 40,000
& 15,000
i 25,000
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SH: SAXED
H: PSR SN
ol DSE WSH ik MY (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 CIFXFE A 2 (ORI 40,000 0 40,000
OAHIX ERME UE AST T2 AIAL
o 50,000, 00021 * 170 2:+80% 40,000
< 15,000
z 25,000
WSS OIS AILE 25 40,000 0 40,000
= 20,000
z 20,000
206 M2 40,000 0 40,000
= 20,000
E 20,000
01 MZtl 40,000 0 40,000
OB+ IS AL 2
40,000,00021% 14} 40,000
= 20,000
z 20,000
NEREEEEERE] 3,205,039 2,478,799 726,240
= 74,700
bJ 100,000
< 236,433
E 2,793,906
DEDSASMA AILXI 3,205,039 2,478,799 726,240
= 74,700
pJ 100,000
S 236,433
z 2,793,906
EBIENE 9,120 10,120 21,000
201 Yer2 | 1,920 1,920 0
01 AbR2r2lH| 1,920 1,920 0
SEECIGLIEISEESS)
8,0008%301x802! 1,920
202 04| 7,200 7,200 0
ETTE] 7,200 7,200
O/ X 2243
200, 00024+301% 128 7,200
0TS N 497,200 497,200
402 SIZEXHE0IA 497,200 497,200 0
01 BIRIRHE AR 2 (RHRITHE!) 497,200 497,200 0
OAN&ETRA THEHED| K
70,400, 00021 %50% 35,200
OAERI0ISIH &I S| X
140, 0002 *600KW*50% 42,000
OLIIZ= 0HZ44 THHh X2
40,000, 00024 %50% 20,000
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2N sAREY
HEM: AlZAIRICl BRAAFL
CHel: DEXSASMA AR (Crof: M2l
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
O] AR CH2 HoHsSLHM UMK
200,000, 0002 *50% 100,000
OAIEZD| =&Y X 300,000,000 300,000
HASZ AL X2 2,224,419 1,490,069 734,350
[ 164,533
= 2,059,886
307 212+0|& 136, 176 136,176 0
[ 40,853
= 95,323
02 QIFAAAIRIE R 136, 176 136,176 0
OMNAF (LI Aoy X
136,176,000 136, 176
[ 40,853
= 95,323
402 QIZERF=0|H 2,088,243 1,353,893 734,350
[ 123,680
= 1,964,563
02 IZFRFE ARSI E R (0| X THS) 2,088,243 1,353,893 734,350
OAESI0 AXEFHILR XA
6,550,0002 * 1074 A*50% 32,750
[ 6,550
= 26,200
OL)| LLIF(AQ) X
80,000,000 80,000
[ 16,000
= 64,000
OFIILHEI|(2EH, 248) X
20,000, 0002 *3IH 2*50% 30,000
[ 6,000
= 24,000
ODNEZ 2, Ots MAD|HGAY
7,750, 0002 %27 A *50% 7,750
[ 1,550
= 6,200
OQNES MAAIL &X| X 1,934,850
0RO ZSTHRA MATAIA BT X
32,800,000 %2574 A*50% 410,000
[ 82,000
= 328,000
OAIEGIRA SEAGLE X
10,960, 0002 * 1074 A*50% 54,800
[ 10,960
= 43,840
0Z)| BHOIHISAIE X
40,000, 0002 %2074 A*50% 400,000
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SN SEUED
S AIZAIES JdHZ !
TP DEISASMA ARXE (chol m=)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0&7| SREAL XE
24,000, 0003 #3571 2=*50% 420,000
OAIZ 20 rHEHT Wet)| XA
800, 000& * 12571 A+50% 50,000
ONER0IGIRA SHB2HE X2
11,0002 %109, 100m**50% 600,050
O, Ot= dat 42" s N
2,893,000 2,893
& 620
o 2,273
SHEO0F UXIEZAIE NF(OBESHE X)) 164,300 186,867 N22,567
= 74,700
& 26,900
i 62,700
402 BIZtAH=01 M 164,300 186,867 N22,567
= 74,700
& 26,900
i 62,700
02 QIZEXH=AIS 22 (01 - THE) 164,300 186,867 N22,567
O=20F HUXIZZAIE XIR(22. 1ha)
164,300,000& 164,300
= 74,700
& 26,900
i 62,700
SAEED| 24 EEXNE 60,000 42,000 18,000
201 et23| 30,000 22,000 8,000
01 Al 22| 30,000 22,000 8,000
Og8s adE)| 82 IBE N
30,000,000 30,000
307 212t01 ™ 30,000 20,000 10,000
04 QIZHHAIAIHE X 30,000 20,000 10,000
Oa¥E)| 28 S2AE
25,000,000 25,000
OQRI22X} 22 Al 5,000,000 5,000
UFHIIIESMHEHAIE XIS 112,500 80,000 32,500
Jl 45,000
< 20,250
i 47,250
402 BIZtA=01 M 112,500 80,000 32,500
7l 45,000
= 20,250
i 47,250
02 BIZAHE ARG 2 X (01X THS) 112,500 80,000 32,500
ODFHIDISMHEHAIE I
225,000,000 *50% 112,500
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SA: SHXED
I AlZALRO] ZEAASL
CHel: DEXSASMA AR (Crof: M2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
J| 45,000
[ 20,250
= 47,250
NEENENENETEEENINE) 137,500 125,000 12,500
7l 55,000
[ 24,750
= 57,750
402 QI2tXH201 ™ 137,500 125,000 12,500
7l 55,000
[ 24,750
= 57,750
02 QIZFRF2 A E R (0| M THS) 137,500 125,000 12,500
OAISL 20 S CHBIAF (L BHAIGIIAI4,80. Tha)
137,500,000 137,500
7l 55,000
[ 24,750
= 57,750
Olise SR 2,284,781 714,307 1,570,474
= 115,300
[ 223,250
= 1,946,231
d=d|laEa 2,284,781 714,307 1,570,474
= 115,300
[ 223,250
= 1,946,231
Olised 12,120 12,120 0
201 L2 A 4,920 4,920
01 AFRZ2IHI 4,920 4,920 0
OC8&II=NE 29 3,000,000 3,000
O30l s AREA)
8,0002%321+804! 1,920
202 Ot 7,200 7,200
01 2UH0i| 7,200 7,200 0
ODlHsA LR
200,00021%301 122 7,200
ANASAEELE 2K 51,836 53,087 A1,251
101 QI24H] 31,3%6 33,107 A1,751
04 2RISR 31,3%6 33,107 A1,751
ONASAIEEE 2% 19,696
0olE= 76,960 101%1902! 14,623
0FXt=gt 76.96094%101%402 3,079
0=2%= 17,702,00024 4. 5% 797
0HLEE= 17,702,00024%3.545% 628
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A sSYRED
M D= |SEXH
el Aslls:Eg (S| : &S
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
XIRYEEH= 628,0002%12.81% 81
onEEES 17,702,000 %1.75% 310
OMMEE= 17,702,000 %1% 178
OLEOIR AL 11,660
0123 76,9602%301x50 11,544
0tHHEE = 11,544,000 2 1% 116
201 LBHR2YH 5,480 4,980 500
01 AF22t2lt] 2,000 1,500 500
OIS0 ASAIEEE 2]
2,000,000&! 2,000
02 2224 3,480 3,480 0
ORIMI20F ASAIBEE Lty
3,000,000&! 3,000
OADIEE 2% SAlY| 40,0002 % 122 480
206 2 HI 15,000 15,000 0
01 W24 15,000 15,000
OMS2HI(L, =%, BT S)
15,000,0002 15,000
NS JBAY 1,066,725 275,000 791,725
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